

## KAVERI KALA MANRAM

காவேரி கலா மன்றம் 2020 Housing Project

# **Project Completion Report**



Sponsor by
AMERICAN EDUCATION DEVELOPMENT - USA

#### **Project details**

Description detail	Description
Date of Proposal திட்ட முன்வைப்பு திகதி	25.08.2020
Project identified date & identifier முன்வைப்பாளர்	KKM project team
Kind of Project திட்டத்தின் வகை	Housing project
Date of work start வேலை தொடங்கும் திகதி	07.09.2020
Date of project completion வேலை முடிவடையும் திகதி	07.09.2020
Date of reporting அறிக்கை சமர்ப்பிக்கும் திகதி	08.10.2020
Date of final cheque payment கடைசி காசோலை வழங்கும் திகதி	.09.2020
Name of the beneficiary பயனாளியின் பெயர்	W.A. Akalanka Pratheep Wijayasooriya
Age of the beneficiary பயனாளியின் வயது	26
NIC Number/ National Authorization தேசிய அடையாள அட்டை இலக்கம்	941314007V
Address விலாசம்	Mahahelambewa , Elayapaththuee, Anuradhapura
Family background	I Akalaka Pratheep Wijesooriya living with my parents and Two younger sisters who are in school. I am 26 years of age. Myfather helps out with farming, and do labor work. My motherand I do labor work for our living. I was affected by Leprosy in 2019. Now I have developed deformity on my right arm, and on physiotherapy treatment. We have no water facility at home, using water from a lake river. We live in Temporary mud house, and have temporary toilet. We have one acre of land, and we do home gardening during rainy seasons. We will be great full if we can have water facility at home for our daily use, for our continue gardening for our steady income, and safety of my sisters for their daily use. A peace full permanent safety home for us to live, and a permanent toilet for our hygiene and dignity. My family and I will be really great full for your generous support. Thanking you.
Number of benefiters	05
Website No <a href="http://kaverikalamandram-kkm.org/last/KKM%202020%20projects.html">http://kaverikalamandram-kkm.org/last/KKM%202020%20projects.html</a>	EHP/04
<b>Total Spent</b>	378,887.00

### KKM - Estimated budget & Spent

Project (திட்டம்) : Housing project

Budget Period (பாதீட்டு காலம்) :one month

Budget Currency SL (பாதீட்டு நாணயம்) :Rs 355,782.00

Total Spent (மொத்த செலவு: 378,887.00

	All figures in SL	Unit	Unit Cost	Quantity	Total estimated	Spent
A	Materials (பொருட்கள்)					
A1	Foundation work		8500.00	1½ lord	12,750.00	13,200.00
A2	Sand	1qr	7000.00	4	28,000.00	28,000.00
A3	12 mm Wire	1 bags	600.00	6 bags	3,600.00	3,600.00
A4	Cement	bags	1000.00	24 bags	24,000.00	28,000.00
A5	Creaser stone	1qr			10,000.00	4,750.00
A6	Roof tiles	1	66.00	550	36,300.00	39,600.00
A7	Head Roof tiles	1	95.00	22	2,090.00	2,375.00
A8	Cement brick stone	1	38.00	1500	57,000.00	54,000.00
A9	Nail	1kg	250.00	10kg	2,500.00	2,500.00
A10	Wood for roof -01	1	700.00	24	16,800.00	16,800.00
A11	Wood for roof -02	1	155.00	44	6,820.00	6,820.00
A12	Wood for roof -03	1	165.00	22	3,630.00	3,600.00
A13	Wood for roof -04	1	20.00	600	12,000.00	12,000.00
A14	Doors set	2 set			13,000.00	15,000.00
A15	Windows set	2 set			12,000.00	14,000.00
A16	Mason charge				40,000.00	45,000.00
A17	Carpenter charge				30,000.00	30,000.00
A18	Local Transept				7,000.00	7,500.00
A19	Implement charge				5,000.00	5,000.00
A20	Name board				1,300.00	1,700.00
A21	Electric wiring with labor charges				15,050.00	20,000.00
A22	Kitchen utensils					8,500.00
В	Subtotal cost (கூட்டுத்தொகை)				338,840.00	361,945.00
С	Project cost (திட்ட கட்டணம்)				16,942.00	16,942.00
D	Total Cost (மொத்தக்கட்டணம்)				355,782.00	378,887.00

#### **Bills**

TOTAL 97000 00

E Titoleim AS-Ress. RE Ste Size Stast, Signs abstracte Classe bila.



TOTAL

TOTAL HEDS 12

#### **Photos**



#### Thanks letter

Date 2020/10/6
ತ್ರಾವಾದ ನಾರ್ವ ನಾರ್ನ ನಾರ್ವ ನಾರ್ವ ನಾರ್ನ ನಾರ್ವ ನಾರ್ನ
新りあれ 引きから あり かられ 6.9 まれ ありの ある あり と と と と と と と と と と と と と と と と と と
Denafanka
Nic- 94 1314007 V Tie- 0772344362